
10/26/05              ABA-5LP41-98-00

INSTALLATION INSTRUCTIONS
Rear Grab Bar

GYT-5YT41-00-00
RAPTOR 350

Please read and understand these instructions completely before installation to avoid injury to your self or
damage to the motorcycle or accessory,
Dealer: These instructions contain important information for future reference and must be given to the
customer.

1. Parts List:
Item Part Name Description Qty

1 Rear Grab Bar Aluminum Ball-Burnished 1

2. Preparation:
a) Remove four OE M8 bolts (2 per side) and two OE M6 screws and flange nuts (1 per side)

which mount the OE Rear Grab Bar to the rear frame and fenders. Set hardware aside for
reuse with GYT-R Rear Grab Bar.

b) Remove the OE Rear Grab Bar from the bike.

3. Installation:
a) Install GYT-R Rear Grab Bar on bike.
b) Re-install the four OE M8 bolts (2 per side) and two OE M6 screws and flange nuts (1 per

side) into mounting holes of Rear Grab Bar.
c) Re-torque the four OE M8 bolts to 25 N-m (18.5 ft-lbs.) Tighten M6 screws and flange

nuts snug.

4. Maintenance: Periodically check all fasteners for tightness and retorque as required.

5. Care and Cleaning: Clean using a soft cloth and a non-abrasive metal polisher, such as
Simichrome Polish (P/N: ACC-1100-19-01).

6. Customer Service: For further information see your Yamaha dealer.


